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In a certain way, $ is related 7 and M is related to & in 
the given series, in the same way, 6 is related to __?
एक निनित तरीके से, दी गई श्रृंखला में $, 7 से सृंबृंनित है
और M, & से सृंबृंनित है, उसी प्रकार, 6, __ से सृंबृंनित है?

A.?
B.Z
C.E
D.M
E.S
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Which of the following should come in place of question 
mark (?) in the following series based on the elements 
in the above arrangements?
उपरोक्तव्यवस्था में तत्ो ृं के आिार पर निम्ननलखखत
श्रृंखला में प्रश्न निह्न (?) के स्थाि पर निम्ननलखखत में से कौि
सा आिा िानहए?

D2M, &^%, 5RN, ?

A.6ES
B.NT3
C.^7P
D./3?
E.%P&
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How many letters are there as per the English  
alphabetical series between the first letters from both 
the ends in the given series?
दी गई श्रृंखला में दोिो ृं छोर से पहले अक्षरो ृं के बीि अृंगे्रजी
वर्णमाला श्रृंखला के अिुसार नकतिे अक्षर हैं?
A.Five
B.Six
C.Seven
D.Four
E.More than Seven
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What is the sum of all the numbers that lies before R 
and after the symbol ">" in the given series?
दी गई श्रृंखला में R से पहले और प्रतीक ">" के बाद आिे
वाली सभी सृंख्याओृं का योग क्या है?

A.41
B.23
C.32
D.36
E.34
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How many such symbols are there which is immediately 
preceded and immediately followed by letters in the 
given series?
ऐसे नकतिे प्रतीक हैं नजिके ठीक पहले और ठीक बाद दी
गई श्रृंखला में अक्षर हैं?
A.4
B.2
C.3
D.6
E.1
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Which of the following element is exactly between “K” 
and “+” in the given series?
निम्ननलखखत में से कौि सा तत् दी गई श्रृंखला में "K" और
"+" के ठीक बीि में है?

A.^
B.V
C.O
D.W
E.4
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Which of the following is the fourth symbol to the left of 
the eighth element from the right end in the given series?
दी गई श्रृंखला में दाएृं छोर से आठवें तत् के बाईृं ओर िौथा
प्रतीक निम्ननलखखत में से कौि सा है?
A.@
B.#
C.*
D.$
E.%
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Which of the following is the next pair in the following 
series?
निम्ननलखखत में से कौि सी श्रृंखला में अगली जोडी है?
DNG, T*L, KA% ___

A.4^V
B.OC&
C.WV5
D.64W
E.I%4
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What is the position of “6” with respect to “V” in the 
given series?
दी गई श्रृंखला में "V" के सृंबृंि में "6" का स्थािक्या है?

A.Seventh to the left
B.Eighth to the left
C.Eighth to the right
D.Seventh to the right
E.Ninth to the left
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How many symbols are there in the given series each of 
which is immediately preceded and immediately 
followed by a letter?
दी गई श्रृंखला में ऐसे नकतिे प्रतीक हैं नजिके ठीक पहले
और ठीक बाद एक अक्षर है?
A.Two
B.One
C.Four
D.Three
E.None



There are eight members in the family P, Q,
R, S, T, U,
V and W with the three generations. S is the
mother of V. W is the niece of R. P is the
father of T. Q has only two leaders sons. V is
the grandson of Q. U is the sister-in-law of R,
who is the father of V. There is no single
parent in the family.
परिवाि में P, Q, R, S, T, U, V औि W की तीन
पीढ़ियों के साथ आठ सदस्य हैं। S, V की मााँ ह।ै W, R की
भतीजी ह।ै P, T का पपता ह।ै Q के केवल दो पववापहत
पतु्र हैं। V, Q का पोता ह।ै U, R की भाभी ह,ै जो V का
पपता ह।ै परिवाि में कोई अकेला माता-पपता नहीं ह।ै



There are eight members in the family P, Q,
R, S, T, U,
V and W with the three generations. S is the
mother of V. W is the niece of R. P is the
father of T. Q has only two leaders sons. V is
the grandson of Q. U is the sister-in-law of R,
who is the father of V. There is no single
parent in the family.
How is W related to P?
a. Grandson
b. Sister
c. Granddaughter
d. Husband
e. Can’t be determined



There are eight members in the family P, Q,
R, S, T, U,
V and W with the three generations. S is the
mother of V. W is the niece of R. P is the
father of T. Q has only two leaders sons. V is
the grandson of Q. U is the sister-in-law of R,
who is the father of V. There is no single
parent in the family.
How S is related to T?
a. Granddaughter
b. Son
c. Mother
d. Sister-in-law
e. Mother-in-law



There are eight members in the family P, Q,
R, S, T, U,
V and W with the three generations. S is the
mother of V. W is the niece of R. P is the
father of T. Q has only two leaders sons. V is
the grandson of Q. U is the sister-in-law of R,
who is the father of V. There is no single
parent in the family.
How T is related to U?
a. Husband
b. Son
c. Father
d. Father-in-law
e. None of these



Statements :

Some leaders are educated.

Some educated are men.

All men are Intelligent.

Conclusions :

I. Some educated if they are men are Intelligent.

II. Some educated if they are Intelligent are men.

a) if only conclusion I follows.

b) if only conclusion II follows.

c) if either I or II follows.

d) if neither I nor II follows.

e) if both conclusions I and II follow.



Statements :

Some doctors are good.

All good who are doctors are honest.

Conclusions :

I. Many doctors are honest.

II. Some honest are possibly good.

a) if only conclusion I follows.

b) if only conclusion II follows.

c) if either I or II follows.

d) if neither I nor II follows.

e) if both conclusions I and II follow.



Statements :

No round is a rectangle.

Some rectangles are triangle.

All triangle are Square.

Conclusions :

I. Some Square may be round.

II. triangle which are not rectangles are rounds.

a) if only conclusion I follows.

b) if only conclusion II follows.

c) if either I or II follows.

d) if neither I nor II follows.

e) if both conclusions I and II follow.



Statements :

All Girls are beautiful.

Some Intelligent are Girls.

No beautiful is Real.

Conclusions :

I. All beautiful which are Intelligent will necessarily be

Girls.

II. All Girls are Real

a) if only conclusion I follows.

b) if only conclusion II follows.

c) if either I or II follows.

d) if neither I nor II follows.

e) if both conclusions I and II follow.



In a certain code language,

Trip towards mountain hills is coded as “ju na mi po”

Rise hills towards river is coded as “gi mi ju ve”

River trip rafting mountain is coded as “po ve na fu”

Towards mountain slow rise is coded as “yb ju gi po”

What is the code for “mountain”?

a) ve

b) po

c) na

d) Either na or ve

e) None of these



In a certain code language,

Trip towards mountain hills is coded as “ju na mi po”

Rise hills towards river is coded as “gi mi ju ve”

River trip rafting mountain is coded as “po ve na fu”

Towards mountain slow rise is coded as “yb ju gi po”

Find the code for "slow rise"?

a) gi na

b) yb ve

c) yb gi

d) Can't be determined

e) None of these



In a certain code language,

Trip towards mountain hills is coded as “ju na mi po”

Rise hills towards river is coded as “gi mi ju ve”

River trip rafting mountain is coded as “po ve na fu”

Towards mountain slow rise is coded as “yb ju gi po”

Find the code for "trip"?

a) na

b) po

c) ju

d) ve

e) None of these



In a certain code language,

Trip towards mountain hills is coded as “ju na mi po”

Rise hills towards river is coded as “gi mi ju ve”

River trip rafting mountain is coded as “po ve na fu”

Towards mountain slow rise is coded as “yb ju gi po”

Find the code for "rise mountain"?

a) ve gi

b) gi ju

c) Either option a or option b

d) gi po

e) None of these



In a certain code language,

Trip towards mountain hills is coded as “ju na mi po”

Rise hills towards river is coded as “gi mi ju ve”

River trip rafting mountain is coded as “po ve na fu”

Towards mountain slow rise is coded as “yb ju gi po”

Code 'fu' stands for which of the following?

a) hills

b) rise

c) rafting

d) Either rafting or slow

e) None of these






